COXREELS

DPL-MODELS/DMPL-MODELS

EXP-150
REVISION: G
ECO NO.: 2577-3
BY: M.LLOYD
DATE: 01-09-08




EXP-150

COMMON PARTS TO ALL DLPL/DMPL

SERIES MODELS

= > > >
T | PaRT DESCRIPTION S o | PaRT DESCRIPTION S
7 | 7801-7.5 |DRUM, CENTER 1 17 | 20780 |SPACER 2
8 |20244-7.5 |BAR, SPACER 2 18 | 435 |NUT, LOCK, 3/8-16 6
9 | 20385-7.5 |ANGLE, BOTTOM SPACER 1 19 | 20000 |ASSEMBLY, LOCKING BRACKET | 1
10 | 20300 |ASSEMBLY, BEARING 1 20 | 113 |BOLT, 1/4-20 x 1/2" 4
11 | 312  |BOLT, 5/16-18 X 3/4 LG 18 21 | 114 |WASHER, LOCK, 1/2" 4
12 | 112  |WASHER, LOCK, 5/16 12 22 | 8100-7.5 |ASSEMBLY, ROLLER BRACKET | 1
13 | 111  |NUT, LOCK, 5/16-18 8 23 | 7460-17 |TRIM, DRUM EDGE 1
14 | 436  |BOLT, 3/8-16 X 3/4" 3 26 | 279  |RING,RETAINING 1
15 | 20194 |RING, LOCKING 1 27 | 20016 |BOLT, 3/8-16 x 1" 3
16 | 10218 |BOLT, 5/16-18 X 2-1/2 LG 2 28 | 10925-5 |NAMEPLATE, PRODUCT 1
ITEM 19 PARTS BREAKDOWN 10C | 640 ICAM, LOCKING 1
T0A | 639 BRACKET, LOCKING 1 19D | 20019 iSPRING 1
198 | 1620 |BOLT, SHOULDER 1 19E | 435 INUT, LOCK, 3/8-16 1
o o
ITEM| PART DESCRIPTION 2l |olala|l2|lz|lz|2|ld|l2ladld]|a
=5 3 a ] -} 2 ) — = > s = = s
(] (] ) (] (] ) (] (] e e a e e a
20224 |ASSY, PANEL, SWIVEL, 20" 1 | 1 1 1 1 | 1 1
1 [ 20230 |ASSY, PANEL, SWIVEL, 24" 1 1 1 1 1
20236 |ASSY, PANEL, SWIVEL, 28" 1 1
20222 |ASSY, PANEL, SPRING, 20" 1T | 1 1 1
2 [ 20228 |ASSY, PANEL, SPRING, 24" 1 1 1 1 1
20234 |ASSY, PANEL, SPRING, 28" 1 1
7799 |ASSY, DISC, 20" 2 | 2 2 2 2 | 2 2
3 [ 76031 |ASSY, DISC, 24" 2 2 2 2 2
7627-1 |ASSY, DISC, 28" 2 2
, 7802 |ASSY, PLUMBING, 172" 1 1 1 1 11 1 1 1 1 11
7806 |ASSY, PLUMBING, 3/4" 1 | 1
439 |ASSY, SWIVEL, 172" 2 12 [2 ]2 |2 |2 2 12 [2 |2 |2 |2
5 426 |ASSY, SWIVEL, 3/4" 2 | 2
20462 |ASSY, SPRING CAN 1 1
20465 |ASSY, SPRING CAN 1
15237-1 |ASSY, SPRING CAN 1
15243-1 |ASSY, SPRING CAN 1
6 | 20470 |ASSY, SPRING CAN 1 1 1
20429 |ASSY, SPRING CAN 1
20428 |ASSY, SPRING CAN 1
20431 |ASSY, SPRING CAN 1 1
20432 |ASSY, SPRING CAN 1 1
o4 | 20276 |ASSY,BEARINGHOUSING, 772 | 1 [ 1 [ 1 [ 1 [ 1 [ 1 T 1 11 111
20277 ASSY, BEARING HOUSING, 3/4" 1 1
,5 | 153 |RETAINING RING 1 1 1 1 11 1 1 |1 1 11
15015 |RETAINING RING 1 | 1
REVISION: G ECO: 2577-3 DATE: 1/9/2008 NAME: M. LLOYD




